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QUESTION 1

When running simultaneous cube builds, how can cube build times be decreased?
A. Assign each Transformer process one CPU.

B. Assign each Transformer instance one CPU.

C. Use the same configuration files for each Transformer instance.

D. Usea single-CPU server model.

Correct Answer: A

QUESTION 2

What does unique mean when applied to a level in a dimension map?

A. The level is designated as a convergence level.

B. The level must be the bottom level of the dimension.

C. No two categories in the level can be derived from the same source value.

D. The data history does not move with the categories as they move in the level.

Correct Answer: C

QUESTION 3

When the model contains two data sources that provide date values, how can the developer avoid ambiguity
whenTransformer sets the current time period?

A. Disable the data source\\'s ability to set the current time period.

B. Assign the current date (obtained from the system clock) as the current period.

C. Let Transformer assign the date closest to the model\\'screation date as the current period.
D. Enter the initial current period and adjust it to match the system date and time.

Correct Answer: A

QUESTION 4
What can be done to apply member-based security if the model contains cube groups?

A. Define the security for each member cube.

C2090-635 PDF Dumps | C2090-635 Exam Questions | C2090-635 Braindumps

2/3


https://www.pass4itsure.com/c2090-635.html
https://www.pass4itsure.com/c2090-635.html
https://www.pass4itsure.com/c2090-635.html

. VCE & PDF https://www.pass4itsure.com/c2090-635.html
E 2024 Latest passditsure C2090-635 PDF and VCE dumps Download

PassditSure.com

B. Inherit the security that was used in the control cube.
C. Create a hierarchical custom view.
D. Create a descendant custom view.

Correct Answer: A

QUESTION 5

What can be created to provide newinsight into the data if Margin Ranges are defined as Low, Medium, and High,
based on a calculated column using the revenue and cost columns?

A. Scenario dimension

B. Exception dimension
C. Special category

D. Calculated category

Correct Answer: B
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